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1. Fiscal stimulus and expectations (25 points)

a) (15 points) Some economists believe that a government can kick-start a slowing economy through
increased government spending. Skeptics argue that this will not achieve much because of the perma-
nent income hypothesis. Describe the argument of the skeptics. Begin by stating the equation that links
current GDP with current demand for domestic goods and give a brief description of the permanent
income hypothesis.

USING THE SAME NOTATION AS IN CLASS, WE HAVE:
}/t :Ct+It+Gt+(EXt—IMt)

WHERE EX; — IM; = NX;. ACCORDING TO THE ABOVE RELATION, AN INCREASE IN CURRENT
GOVERNMENT SPENDING (G; SHOULD INCREASE CURRENT GDP Y; ONE-TO-ONE. BUT THIS ASSUMES
NO CHANGE IN CURRENT CONSUMPTION C; AND INVESTMENT I;.

THE PERMANENT INCOME HYPOTHESIS (PIH) SAYS THAT C; AND I; BOTH DEPEND ON EXPECTA-
TIONS ABOUT FUTURE INCOME AND PROFIT LEVELS, WHICH IN TURN DEPEND NEGATIVELY ON TAX
LEVELS. NOW IF Gy INCREASES AND IS FINANCED WITH A DEFICIT, THEN FUTURE TAX LEVELS ARE
EXPECTED TO INCREASE IN ORDER TO REPAY THAT DEFICIT. THIS CAUSES BOTH C; AND I; TO
DECREASE AND CONSEQUENTLY SOME OR ALL OF THE INCREASE IN Gy MAY BE COMPENSATED FOR.

THE SKEPTICS THUS ARGUE THAT THE EFFECT OF (G} ON Y; MAY BE VERY SMALL AND NOT
WORTH ALL THE TROUBLE CAUSED BY AN INCREASED GOVERNMENT DEBT, SUCH AS HIGHER FU-
TURE INFLATION.V

ADDITIONAL RELEVANT COMMENTS:

e IF THE GOVERNMENT TRIES TO INCREASE Gt WITHOUT RUNNING AN ADDITIONAL DEFICIT,
IT WILL HAVE TO RAISE TAXES NOW. MOST ECONOMISTS WOULD AGREE THAT THIS WILL
DEEPEN THE RECESSION. HENCE, IN ORDER TO STIMULATE THE ECONOMY NOW, AN IN-
CREASE IN Gt SHOULD BE FINANCED WITH A DEFICIT.

e IF THE RECESSION IS ACCOMPANIED WITH DEFLATION, PEOPLE MAY ASSOCIATE INCREASED
GOVERNMENT DEFICITS WITH FUTURE INFLATION AS THE CENTRAL BANK INCREASES THE
MONEY SUPPLY IN ORDER TO PAY BACK THE DEBT. THIS MAY INCREASE INVESTMENT NOW
AS INFLATION MAKES IT EASIER TO PAY BACK A GIVEN STOCK OF DEBT.

b) (10 points) Suppose that you are asked to conduct an empirical study that seeks to determine
whether increased government expenditures can contribute to higher GDP growth during a recession.
Explain why ezxpectations are both important but challenging for such an analysis.

AS ARGUED ABOVE, Ct AND I; ARE IN LARGE PART DETERMINED BY FUTURE INCOME LEVELS. IN
PARTICULAR, IF FIRMS EXPECT FUTURE PROFIT OPPORTUNITIES TO INCREASE, THEN THEY WILL BE
INCLINED TO INCREASE CURRENT INVESTMENT [;. WE HAVE SEEN IN CLASS THAT ACCORDING TO
SOME STUDIES, CURRENT INVESTMENT I; CAN INCREASE NOW IF FIRMS EXPECT FUTURE GOVERN-
MENT SPENDING, SAY Gt+1, TO INCREASE. THE ARGUMENT IS THAT THEY NEED TO INVEST NOW IN
ORDER TO BE READY FOR FUTURE GOVERNMENT CONTRACTS.
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THE ABOVE IMPLIES THAT [; IS NOT DETERMINED BY ACTUAL GOVERNMENT SPENDING BUT
RATHER BY FIRMS’ EXPECTATIONS ABOUT FUTURE GOVERNMENT SPENDING. IF ONE WANTS TO
DEMONSTRATE THAT INCREASED GOVERNMENT SPENDING CAN STIMULATE AN ECONOMY IN RECES-
SION, ONE SHOULD THEREFORE LOOK FOR A CORRELATION BETWEEN INVESTMENT TODAY AND
FIRMS’ EXPECTATIONS ABOUT FUTURE GOVERNMENT SPENDING. THIS IS CHALLENGING FROM AN
EMPIRICAL POINT OF VIEW BECAUSE ONE TYPICALLY CANNOT OBSERVE DIRECTLY WHAT PEOPLE
THINK ABOUT THE FUTURE, I.E. RELIABLE DATA ON EXPECTATIONS ARE DIFFICULT TO COME BY.V’



